4

A=A I-

IO-I6FIST

B8 m =R

Model Table |

Body Parts ‘ Engine Parts ‘

HEES

7340100

vt




BRROFAGEICOWT

B
ZOWBEZIAK, TV VDO THBTERINTOET,

EE S
TR AU, B & 2L T ET,

RTHNAT
HEEREMBIEER SN TR, THEXWEELBORNERERLTCEDE Y,
ZZIREN-BEL B & L TRNIIFIASTEDETOT, HUKEDOE
ICCZTHEXFE3 L BEHOCELET,

BETH
R TR CE S T A 87, SRR EREN) 4 T (IR T4, @il
Mamd L<idley b TOEETHTY,

%
B THIZHENTOBBAE T vy 7)) -8B TY, 7. HLDPRBLET
HITRHELBESOF IR TOBYNFR Y HAGETRE T,

* EBAIE358 AT Ay M-y M B ENE T,
@ BHIT121 3¢ 7 V- BN E TR E T,
A EREIZ1033 WA AN k- Ry M B E R T,

HRBTRUROED, RTINS DET, BaMBETHRESEEOLRE

% CHERRR N E T,
(1)
Part No. List Price Description Dispo. Code
93440 130 Use94712 C

(ZDIBAIBA40D TS IFMTIIZEE I N Z L &R L E T, & LI3440D LA
bhE, ThERELTHEAL, RS ZVIHAUTI2EHEML £7,)



PARTS LIST FOR THE YANASE SNOW-THROWER

TIPS FOR USING THIS PARTS LIST

1. STRUCTURE
This Parts List has two sections: Body Parts and Engine Parts.

2. NOTES
General standards, name, etc. are described in this column.

3. ORDER-UNIT
The number listed here indicates the number of individual parts prepackaged together.
Because of the prepackaging, parts must be ordered in multiples of this number. For
example, if the number indicatedis 5, but you want to order 7 units, then you are
requested to order 2 sets of 5 parts or 10 parts.

4. STANDARD PROCESSING TIME
This number indicates the amount of time required for parts to be replaced.

5. ENGINE
If the figure is surrounded by a frame, assembly is required. Only parts given an index
number can be individually ordered. Other parts may be ordered only as parts of sets
and kits. Therefore, parts marked with:
sk are included in the Gasket Set #358;
@ are included in the Carburetor Kit #121;
A are included in the Valve Overhaul Kit #1033.
Notice: Parts numbers may be changed without notice. Please confirm all parts numbers
when placing orders. Some number changes will be indicated within the parts list as
follows:
Part No. List Price Description Dispo.Code
93440 130 Use 94712 C
Here, the part number has been changed from 93440 to 94712. Parts listed as 93440 will
be available as long as supplies last. Parts listed under 94712 will then be supplied.



10-16HST

1999
Parts List




A F
Body Parts

73410010

Top

I‘/¢/‘/ . 7|/—‘L\g|3 ...............................

Engine & Frame

a I\D—H/EB .......................................

Levers & Links

F—H - 7“E|'7§B ......................................

Auger & Blower

:/J__ I\EB ...............................................

Chute

E?ﬁ-z{ggg ...............................................

Transmission

5$H___ELB .....................................................

Hydraulic System

FIN— o FEIT T L — BB ceveerereernsennnieinnnnnnn,

Covers & Frame-driving

%ﬂ%gg .....................................................

Electrical Equipment

Z%\yﬁﬁﬁ ...............................................

Stickers

EE*& ....................................................

Wiring Diagram

........ 2~5

...... 6,\,11

2000. 1



Ire

10-16HST

2000. 1



I e TJL—LE 734

HiNo.| # & & 5 R 1% L2 L |FRHn | B T X
1 | S072—1110 ALY TV —0b 1
2 | S073—7100 B&SLY YV 5 N1303447(16HP) | 1
3 | S072—7110 Ty vT—Y 1
4 | S941—2394 AT F— (Wif) 1/4X1,/4X62 1
5 | S009—0480 IV F7L—1% 1
6 | S801—1252 SAENL b (274 A 2410, /14) | 3/8—24UNFX20 1
7 | S926—1208 AP N M10 10 5
8 | S058—7120 FLYFo—7 1
9 | S009—0971 FLYyFa—TFyvy 7 1
10 | S072—7120 ~L M Z 2 0.2
11 | S801—1254 NAEL L 27 A 241 401) | 5,/16—24UNFX25 2
12 | S926—1206 ISR M8 15 5
13 | S072—7130 <739 H3— (k) 1
14 | S913—3207 77 v VRSRARIL D M6X12 5 5
15 | S072—7100—1 | =7 784 7 1
16 | S914—4220 VA A S ey E IR M4X10 2
17 | S812—1012 I By A R WF12 1
18 | S061—7152 o S R Ry AT HHiNo.19~285 ¢ 1 1.8
19 | So61—7152—1 | #El &% v~ 1
20 | S255—2440 THLISyF 1
21 | S255—2420 el m| 1
22 | S901—2016 NEAL b M6X 16 7 5
23 | S812—1006 VLT x WF6 4 5
24 | S061—7152—3 | A bL —F 1
25 | S255—2450 o3 AR A 1
26 | S061—7152—4 | BREtr —v 1 0.2
27 | S061—7152—5 | T8 F Y (BB —Y) 1
28 | S908—1214 2 v Y M4 X 12 5 5
29 | S061—7170—1 | B¥E— 2 (F Vo —=T 4N %) 430L 1
30 | S061—7171—2 | MEE— R (74 &= P V) | 950L 1
31 | S836—1012 F— ANV F 12 4
32 | S072—1140 IS r—=Y 73y b 1
33 | S902—4033 INESAEL B M8X20(8T) 7 5
34 | S902—4052 INESEERL b M10X 20(8T) 3 5
35 | S929—2206 SERES M10 4 5
36 | S061—1220 Ny TUE 1
37 | S902—4054 INEFSAEAFNL b M10X30(8T) 4 5
38 | S061—3760 Ty ys (av o H—H) 1
39 | S028—1910 HIYYT4NA 1
40 | S916—1204 AT b M6 10 5
41 | S072—1270 A —Hr—AXETI7 v b 1
42 | S916—5205 MNEAfAT o b M8 6 5
43 | S916—5206 INESET Y b M10 6 5
44 | S072—3021 B~y v b () 1
45 | S053—3840 S 7y B - M10X 135 2
46 | S061—3012 B~ v b (B) 1
47 | S901—2015 AL b M6X12 1 5
48 | S929—2205 SERES M8 3 5
49 | S926—1204 IS TS M6 12 5
50 | S072—7140 <735 H3— (TF) 1
2000. 1



734 I Tl —LE

10-16HST

*’
by
()

2000. 1



I - TJL—LE 734

HiiNo.| & & & 5 il T £ i it L2 A% | RN | BT
51 | S902—2032 INES AL b M8X 16 2 5
52 | S072—3720R gyt (H) 1
53 | S016—6031 i — A [BlE#h 52 1
54 | S929—4204 Mg (K M6 4 5
55 | S072—3720L gy ot () 1
56 | S061—3730 BYIBAT — 1
57 | S061—3750 By HIN— 1
58 | S050—2290 BhtR =T & 4
59 | S902—4038 INESNAARL b M8X45(8T) 4 5
60 | S902—4053 NS AR b M10X25(8T) 8
61 | S926—1208 IN TS M10 8 5
62 | S929—2206 SERES M10 8 5
63 | S072—6040 Wi (4 — Z[ElExE ) 4
64 | S926—1207 IN RS 3/8 1
65 | S929—2204 SRS Mé6 1 5
66 | S902—4054 INESAAL b M10X30(8T) 4
67 | S926—1208 IN TS M10 4 5
68 | S953—2202 Y =Ry TN B—PT1./8 1
69 | S953—1202 VA = ¥ A—PT1/8 1
70 | S902—4053 NS AR B M10X25(8T) 8
71 | S926—1208 IN IS M10 8 5
72 | S016—6020 r — Z [0 s 1
73 | S870—2112 Bod 2 (8HD) IH061—9510 2 5
74 | S926—1208 IN I EEE M10 4 5
75 | S916—5206 INESAT b M10 4 5
76 | S870—2111 Aosfi 2 (6H) [H061—9520 1 5
77 | S902—4053 NSRRI b M10X25(8T) 1 5

2000. 1



734 > bO—JLER

"’,‘t 10-16HST 2000. 1




> bO—JLEE 734

RiiNo.| & & & 5 ®mom % K 1% i B |FITHN ) e TR
1 | S072—3100 R8s 1 1
2 | S072—3122 e 2L 1 0.7
3 | S913—3608 7R AR (B 2—M6X16(7T) 14 5
4 | S058—3110 TLE 4
5 | S908—1214 R ANE RSOV AT M4X12 4 5
6 | S072—3150 s AT Y2 1 0.5
7 | S926—1204 IN TS M6 4 5
8 | S916—1204 NET b M6 2 5
9 | S061—3880 HETL —F7— A 1

10 | S930—0243 "V 4X40 1 10

11 | S913—3307 T3V PSR LLE (B) 2—M6X12 4 5

12 | S050—4131 o H 1 0.2
13 | S803—0227 AARNY TR b M8X20 2 5

14 | S061—3160 Ya—bFEFLIN— 1 0.3
15 | S706—1210 2Ty 1

16 | S929—2206 a4 M10 5 5

17 | S806—7204 NESAUS 5 b M10 4 5

18 | S072—3390 oy FO(EZEH) 1

19 | S061—3040 YA KTy FRATF — 1

20 | S901—4017 AL b M6 X 20(8T) 3 5

21 | S072—3220 HA4F2FyFLIN— 2 0.3
22 | S061—3230 P45y F Loy —H 1 0.7
23 | S902—4033 NSRRI b M8X20(8T) 4 5

24 | S926—1206 IN IS M8 4 5

25 | S916—5205 INERHEF Y b M8 4 5

26 | S072—3790 B (F4 K235 9F) 12—34 »u 2 0.1
27 | S061—3240 YA K259 FT7—4 (H) 1 0.7
28 | S061—3250 A 25 9FT7—24 (k) 1 0.7
29 | S929—2209 RS M16 2

30 | S930—0241 RV 4X32 2 10

31 | S931—1117 ZF) Y 3X25 2 5

32 | S931—1132 2Ty Sy 5X25 2 5

33 | S061—3271 Ty F (A F2TyF) 2

34 | S061—3280 2L R 2 0.3
35 | S916—6205 WNESNAF Y b (3FE) M8 4 5

36 | S824—1209 BV 6X20 2 5

37 | S929—2204 EHES M6 2 5

38 | S930—0208 #HyY 2X16 5 10

39 | S072—9150 2Ty 2

40 | S930—0219 HY Y 2.5X20 1

41 | S930—0228 E 3X20 1

42 | S927—4109 s x H—12 1

43 | S902—4077 INESARIL b M12X50(8T) 1

44 | S929—2207 V-HE4 M12 4 5

45 | S930—0228 #Y 3X20 2 10

46 | S902—2051 INERBE L b M10X 16 2

47 | S072—3300 VIN—EKRA T Ty b 1

48 | S838—3118 &y b M12X 20 1

49 | S072—3290 B L N — 1

50 | S082—3290 Bo (kL v—) 12—57 HT # 1

2000. 1



734 3> bO—IJLER

”1”-'& 10-16HST

2000. 1



a2 hO—JVER 734
HAHNo.| = % & 5 Y A % r it H B [Rikuifi | S T
51 | S828—1260 Tyva Sy x8)L) 12X 14X 12 2
52 | S072—3311 LN— B b (ZH) 1
53 | S072—3321 LN—HRZ b (BIE#) 1
54 | S916—5205L INESRAT b (BEaY) MSL 2 5
55 | S040—1660 B—INy I 1
56 | S061—3330 FEET —4H (I v ay) 1
57 | $910—3120 ANARGHERY (FF)E) M8X16 1 5
58 | S901—4019 AL b M6 X 30(81) 1 5
59 | S061—3340 Ay HE7 — 4 1
60 | S828—1297 Tyia Ny A4)N) 30X 34X 12 1
61 | S938—1367 el N ) B 62627 1
62 | S705—3225 2Ty v 1
63 | S061—3350 rh ST R 1
64 | S072—3361 BT — 4 1
65 | S061—3381 oy F 1
66 | S916—5205 INESET b M8 6 5
67 | S835—2555 7y Ry F (LE) M8X1.25 1
68 | S926—1206 IN RS M8 4 5
69 | S061—3411 BTy F 1
70 | S835—2555 Oy Py R (LE) M8X1.25 1
71 | S835—2555L gy Py F (LE) (ExY) MB8LX 1.25 1
72 | S061—3431 PARSE [ -3=i0N 1
73 | S916—1204 ATy b M6 4 5
74 | S835—2554 oy Fxy F (LE) M6X1 2
75 | S926—1204 NS M6 2 5
76 | S061—3441B PEYEIR 2
77 | S061—3650 IV aryTL—} 1
78 | S061—3442 LIN—FRT — b 1
79 | S005—4540 VAT N 2 5
80 | S806—3205 F4avry b M12 1 5
81 | S061—3461 TSy b 1
82 | S902—4572 NS AL b M12(P1.5) X 25(8T) 2 5
83 | S926—1209 ST S M12 3 5
84 | S902—4035 NS AR B M8X30(8T) 1 5
85 | S061—3860 T (BHETL—-F) 1
86 | S929—2207 R4 M12 2 5
87 | S072—3480 *—HI5yFLIN— 1 0.3
88 | S828—2192 73T Tyva 12X 14(20X 1) X 21 1
89 | S929—2205 SRS M8 4 5
90 | S930—0228 vy 3X20 7 10
91 | S072—3490 Vs T —46 (F—HH) 1
92 | S828—2112 T35V Ty a 12X14(20X1) X 16 1
93 | S053—3340 Yy TFL—k 1
94 | S072—3500 A —HrF9FIAY 1 0.5
95 | S824—1295 e ¥ v 8X18 1 5
96 | S061—3510 AWy PILLIN— 1 0.3
97 | S822—6301 #o (1g) 1
98 | S061—3520 AWy PILLIS—=T T 5 b 1
99 | S927—3106 mss L—8 1 5
100 | S806—8203 NESRfFAay oy b M8 1 5
2000. 1



734 3> bO—JLER

.h’.t 10-16HST 2000. 1



> bAO—IJLEE 734

BiiNo.| # 5 & 5 B8 % W 1% o g | ROEHn | e T8

101 | S901—2004 AAAEL b M5X16 2 5

102 | S926—1203 IN TS M5 2 5

103 | S929—2203 Vg M5 2 5

104 | S061—3550 AWy MLTA Y 1 0.3
105 | S061—9530 ZIS4 INF 2 —T 1

106 | S061—3030 INES AL B M10X35 2 5

107 | S601—3050 Y —TF AU Ty FIN— 1 0.3
108 | S711—1101 AT VA S 15A 2

109 | S050—4831 ATGANT gy (£—=TT 425 9F) 2

110 | S061—3061 Y —TFA4DT9FT — 4 1

111 | S061—3071 BE L —~F LN — 1 0.2
112 | S082—3490 By (+—H) 12—50 &7 % 1

113 | S061—3870 BYHi 7L — o o F 1

114 | S931—1124 ZTY LY 4X25 1 5

115 | S930—0239 vy 4X25 2 10

116 | S255—2230 2L E R 1

117 | S824—2209 FIE Rl 6X20 1 5

118 | S930—0208 "YU 2X16 1 10

119 | S053—9110 A% 1

120 | S040—2670 Az EE 2

121 | S908—1213 RRs A D P N M4X10 2 5

122 | S916—1202 NAT Y b M4 2 5

123 | S926—1202 IN IR M4 2 5

124 | S081—3930 By (Y a2—1) 12—40 & uw 1

125 | S082—3530 #o (P 12—40 Pru 1

126 | S926—1208 IN TS M10 2

127 | S929—4204 VrHEE (CK1F) M6 2

128 | S835—1102 Oy FLYF (TAEL D) 8—M8X1.25 1

129 | S835—1303 Oy FLYF (TABAZD) 8—M8X1.25 1

130 | S902—4034 INESREANL b M8X25(8T) 2

2000. 1

11



734 F—# - JATJEB

"’,‘t 10-16HST 2000. 1

12



FT—#H-7078 734

HHiNo.| 2 & & 5 =Y f % PN 4 = % | FEHAT | HEHE T X
1 | S073—4110 *—Hhr—Z 1 2
2 | S916—5206 INESFF 9 b M10 24 5
3 | S926—1208 IN IS M10 26 5
4 | S061—4120 TL—F 1 0.6
5 | S906—1424 FRRALIA AL b M8X25(8T) 8 5
6 | S926—1206 IN IS M8 25 5
7 | S916—5205 INERNAT v b M8 22 5
8 | S016—9510 e (7L —FH) 8
9 | S061—4211L * —H 4 — 2R () 1 0.9

10 | S061—4211R A —Hr — 2 () 1 0.9
11 | S902—2032 /MESAFRL b M8X 16 15 5
12 | S050—5321 A 2 0.1
13 | S050—5340 BElEAnr bt (VUH) 2
14 | S916—5256 WNESAF o b M10(P1.25) 4 5
15 | S028—5410 Y4 Fv—9 2
16 | S906—1238 FAMRALTEA L b M10X25 4 5
17 | S053—5410 YRy o A% 1 0.2
18 | S902—4053 INESS R b M10X25(8T) 2 5
19 | S061—4230 FeRKEA 1 HER 2
20 | S061—4240 B GREEA LR ) FFES 1
21 | S040—1730 BT — S 1
22 | S016—6750 VA BT 1 2
23 | S938—1726 HE—ARTY VT 6206LLU 2
24 | S072—5440 AN—4% (30X48.5) 1
25 | S072—5450 Z =4 (30X50) 1
26 | S072—6770 AANF vy T 1
27 | S061—5111L A —# (k) 1 0.4
28 | S061—5111R *—# (4) 1 0.4
29 | S053—5121 I — A E R 2 1
30 | S902—4032 NS AL B M8X16(8T) 4 5
31 | S709—2111 ¥4y —sKJL b M10X25 2 50 0.1
32 | S061—5130 * — Al 1
33 | S941—1195 Eir ¥ — (ML) 7XT7X24 2
34 | S941—1320 Fird— (FiA) 7XT7X45 1 1
35 | S938—1126 EeARTFY VS 6206 2 3
36 | S061—5170 *—HAZL 2 0.7
37 | S938—1725 A=A RT7TY VS 6205LLU 2 0.7
38 | S906—3239 AR RTEA L b M10X30 6 5
39 | S936—2052 AL R—52 2 5
40 | S016—0100 Y=o w7 (A 25 2 5
41 | S058—5210 A=A/ 1 15
42 | S072—5220 7 o 7 i 1 3.5
43 | S941—1120 EprEd— (i) 7X7X45 1 1.5
44 | S941—1221 Fird — (i) 7X7X50 1 1.5
45 | S902—4052L INESRARLE (FEXD) M10LX20(8T) 1 5
46 | S009—0480 TV FFL—} 1
47 | S702—3206 Yok —AXY 1 3
48 | S702—4207 Yo — Lk — L 1 3
49 | S058—5360 R7Y IS YF—F 1
50 | S951—2060 oy vy G60 1

2000. 1

13



734 A—# 707

,b’,t 10-16HST

14



-4 -7 734

HiNo.| & 5% & 5 &Y A # FR i e fE% | R | e T
51 | S053—5370 AR —H (25X13) 2
52 | S053—5390 AR 7 1 1.5
53 | S058—5430 A — 77 B 1 3
54 | S941—1179 47 E — (kL) 7XTX60 1
55 | S938—1125 A—=LRF7TY & 6205 1
56 | S939—3025 F XU =TT Y 30205 1
57 | S803—0227 ANAIAR L b M8X 20 6 5
58 | S058—5310 TA—=LFYHRy s 1 2
59 | S811—2124 A A4NLY— N TC30458 3 1.5
60 | S902—4055 INESRAAEL b M10X35(8T) 2 5
61 | S920—2206 R4 M10 4
62 | S902—2033 INESS AL b M8X 20 3 5
63 | S812—1008 Ay Py BRI WF8 1 5
64 | S910—4118 NAKRMIERY (Z7E 3% M8X12 1 5
65 | S952—1204 v PT1.72 1
66 | S952—1202 v PT1,/4 1
67 | S053—5320 Y ox =Lty g AT 1 1.5
68 | S053—5330 A A 1
69 | S016—9770 AR 1 3.5
70 | S926—1208L INAESE () MI10L 1 5
71 | S704—8221 V7 —1 10B—3 1 1.5
72 | S831—3344 VAL b LB—44 3 0.5
73 | S811—2129 A4 NY — TC35488 1
74 | S828—1123 Tyia 30X34X30 4 0.9
75 | S061—5500 *F—H3Ivy g VTR HiiNo.32,34&8 | 14 1.5
76 | S916—1106 SNAF Y b M10 2
77 | S902—4054 INESS AR L b M10X30(8T) 2

2000. 1

15



734 T a1—bEB

v*tl 10-16HST 2000. 1

16



va—bhEB 734
HiiNo.| 3 % & 5 ®oOo® % W 1% L A | RibHnr | B
1 | S064—6110 v a—F 1 0.6
2 | S930—0228 #y 3X20 4 10
3 | S929—2205 SR g M8 4 5
4 | S807—1004 b0 e WW—38 4 5
5 | S058—6220 t—T7F 4 H—F 1 0.1
6 | S901—4015 ANHEEL b M6X12(8T) 4 5
7 | S926—1204 A% M6 8 5
8 | S916—1204 NEF b M6 8 5
9 | S064—6220 Va—bFyr o7l 1
10 | S061—6210 Va—bFry T2 1
11 | S930—0208 £ 2X16 2 10
12 | S929—2204 i 4 M6 1 5
13 | S009—2200 Va—bFyyTTL 2
14 | S061—6230 A S b1 1
15 | S061—6250 A5 — 2
16 | S072—0730 v 2 — MHUTE 1 0.5
17 | S906—1222 A ALBAA L b M8X 16 4 5
18 | S929—4205 EREE (KTE) M8 4 5
19 | S926—1206 IN TS M8 4 5
20 | S916—5205 INESSFF b M8 4 5
21 | S002—3040 VA 1
22 | S009—0880 va— Mz (F) 1
23 | S061—6241 Ya—bFEFI4Y 1 0.3
24 | S824—1207 PNl 6X16 1 5
25 | S061—0850 Va—=b2 )T 3
26 | S053—4430 Yo — L2 1 0.2
27 | S906—1238 A ATAR L b M10X25 1 5
28 | S005—1680 Yo — XY 1 0.3
29 | S910—4118 ANARMIERY (ZF3I%) M8X12 3 5
30 | S061—4410 v ox— L8 (2 — MEE) 1
31 | S833—1103 2Z)S—=H AT 34V b 3 0.3
32 | S931—1130 2T Y 5X20 6 5
33 | S072—4440 rhiEh2 (185L) 1 0.4
34 | S821—1001 ELIR) M10 1 0.1
35 | S916—6206 NEREF Y b (35 M10 1 5
36 | S072—4460 oh fldH X 7 —2 1
37 | S902—4034 NS FER L b M8X25(8T) 1 0.4
38 | S926—1206 IN RS M8 1 5
39 | S050—5540 Tova 3 0.2
40 | S016—7030 INYERELT — 2 1 0.1
41 | S916—5205 INESAT o b M8 1 5
42 | S061—9540 Tyovy 250L 1
43 | S705—3249 ZATY v 1
44 | S929—2206 VRS M10 1 5
45 | S926—1208 IN IS M10 1 5
46 | S916—5206 NESNAT b M10 1 5
47 | S929—2207 R4 M12 1 5
48 | S902—4032 INEAAFRL b M8X16(8T) 6 5
49 | S926—1206 IN TS M8 6 5
50 | S929—2205 AN MS8 6 5
2000. 1

17



734 21— bEB

2000. 1

18

10-16HST

Pre




~

va— 88 734
RiNo.| & & & 5 ®wooR % K 1% B | RITHL | e T8
51 | S072—4430 hisld1 (750L) 1
52 | S072—4450 i 2 7 —1 1
53 | S902—4034 NS ARV b M8X 25(8T) 1
54 | S926—1206 IN LS M8 1 5
55 | S929—2205 B E M8 1 5
56 | S916—5205 INESFATF Y b M8 1 5
57 | S072—4420 NV R L 1
58 | S936—1017 CH L A i S—17 3 5
59 | S072—4470 INY FILEREF 2 — 7 1
2000. 1

19



734 ETERER

"”—t 10-16HST 2000. 1

20



ETEZIERE 734
RiNo.| % F 5 il i % N it # E% | BTN | R TR
1 | S061—1261 EfFIvyav 1 3
2 | S061—1260—1| 2=V &7 7V 1
3 | S061—1260—2 | A4 L&z (HST) 1
4 | S061—1250 N 2
5 | S902—2033 INESEARL b M8X20 8 5
6 | S926—1206 A M8 13 5
7 | S929—2205 VR 4 M8 6 5
8 | S061—1320 B Al 1 0.8
9 | S941—1215 AT F - (i) 7X7X25 1 0.6
10 | S941—1119 FirE — (k) 7TX7X40 1 0.5
11 | S902—2032 INEFSA AL b M8X 16 1 5
12 | S061—1330 V77— 1 1.5
13 | S910—4124 RARGERY (745 3%) M8X 25 2 5
14 | S704—1222 V7—1) 5.5A—1 1 0.5
15 | S058—1360 W4 1
16 | S061—1370 V7= GEffivyav) 1 0.4
17 | S901—4016 AAEIL b M6 X 16(8T) 4 5
18 | S926—1204 IN TS M6 5 5
19 | S929—4204 N2 A NE D) M6 4 5
20 | S941—1109 AT HR - (ML) 5X5X28 1
21 | S061—1380 FL— 1
22 | S901—4015 ANAEARL b M6X 12(8T) 1 5
23 | S902—4050 INEFSA R b M8X130(8T) 2
24 | S916—5205 INESRAET o b M8 10 5
25 | S831—1337 VAL b LA—37 1 0.4
26 | S831—1332 VAL b LA—32 1 0.4
27 | S831—1333 VAL b LA—33 1 0.4
28 | S072—1410 FUV YT =L (YY) 1 0.4
29 | S936—1015 CIIL A S—15 3 5
30 | S061—1420 FryvavrT—546 (FET3vvay) 1
31 | S072—1430 FUY g vy K 2
32 | S705—4241 2T vy 2 0.2
33 | S061—1441 FriavT—50 (F709) 1 0.5
34 | S936—1017 CEILE # S—17 1 5
35 | S929—2209 SRS M16 1
36 | S930—0241 "Y' 4X32 1 10
37 | S715—2673 FrvavIT—=) IH 061—1450 1 0.5
38 | S938—1723 N PN A B 6203LLU 2 0.5
39 | S705—5247 2FY vy 1
40 | S705—4248 ZTY vy 1
41 | S061—1460 LIS—KZ2 b (Fuvsvigy) 1
42 | S715—1101 FrvavT—1 (45X20) [H 005—1270 3 0.2
43 | S061—1470 A ENA | 1 0.3
44 | S916—5206 INESAT 5 b M10 5 5
45 | S926—1208 IN RS M10 5 5
46 | S929—2206 -4 M10 2 5
47 | S929—2207 SRS M12 2 5
48 | S930—0230 By 3X25 2 10
49 | S826—5125 VLTI OERTY v 2=y b | ASPFL205 1 0.5
50 | S058—1120 UsEL b 2
2000. 1

21



734 ETERS

v*—t— 10-16HST 2000. 1

22




4=
ETEES 734
RMNo.| & 5 & & . R 1 L BB | Ry | EE T
51 | S072—1200 R7Y ) F—F 1
52 | S902—4033 NEFSAAR L b M8X20(8T) 2 5
53 | S826—5425 L7527y v sy b+ | CSPFL205 1 0.6
54 | S930—0228 ey 3X20 1 10
55 | S824—1207 JEAHY v 6X16 1 5
56 | S930—0208 £ RS 2X16 1 10
57 | S040— 1460 7 ¥ 210X10 1
58 | S061—1510 A —=HITL—FL 5 — 1
59 | S931—1129 2T Y 5X18 1 5
60 | S901—4015 NALRL b M6X12(8T) 1 5
61 | S926—1204 IN IS M6 1 5
62 | S929—2204 SERES M6 1 5
63 | S072—1480 Ty F (7uvya—) 1
64 | S916—1204 ATy b M6 2 5
2000. 1

23



734 HIEEB

v’t 10-16HST 2000. 1

24



MEES 734

RiiNo.| % & & 5 W & R % L2 MM | BRI | REHE T8
1 | S058—2510 WE Sy r—v 1 1
2 | S050—6210 T AT = LN T Assy HHiNo.3~8& ¢ 1 1.2
3 | S050—6210—1 | V& —v ATy v & 1
4 | S050—6210—2 | N TIEB)T — £ 1
5 | S050—6210—3 | F—J 1
6 | S050—6210—4 | NN TEBIT — LT T 7 v b 1
7 | S050—6210—5 | 27T v 1
8 | S050—6210—6 | 71 b AHIv— 1
9 | S060—2690 Lox— GHE/ L T) 1

10 | S916—6205 INERAEF Y b (3FE) M8 1 5

11 | S072—3770 #Bo GlELr /) 8—40 WXRZu 1

12 | S852—9255—1 | lE+H— A (550L) PRI/4x Ay —bazty| 1

13 | S852—9265—1 | Wik — X (650L) PFI/4A2y—baz4y| 1

14 | S061—2530—1 | iIFE-HR— X (1350L) PFI/4F Ay —tazty| 2

15 | S061—2530—2 | ¥liFE+ R — & (1450L) PFL/4F Ay -ba=tv| 1

16 | S061—2530—3 | W+ — X (1600L) PFI/4A Ry =ba=xv| 1

17 | S851—3206 TETH (907 ) PTXPFXZ¥—F1/4| 4

18 | S851—4106 TETH (45 ) PTXPF+ Ay —11/4] 2

19 | S851—8202 TETE (907 ) D09 PTXPFA Ay — +1/4 1

20 | S851—8201 TETE (90 ) 005 PTXPFARY —F1/4] 2

21 | S851—1106 TETE (AbbL—}) PTXPFA 2y —b1/4| 1

22 | S851—3106 TETE (90" ) PTXPFA 2y —F1/4| 1

23 | S061—2610 WESY V& (HE#) B No.24~32& ¢ 1 0.5

24 | S061—2610—1 | Y YV & F o —F 1

25 | S061—2610—2 | ¥R bruay K 1

26 | S030—0360G 0y FHoN— 1

27 | S818—1125 AX Y=L SDR—25 1 1

28 | S819—1125 0y Koy v SKY—25 1

29 | S951—4034 oy vz 1B—P34 2

30 | S028—0370 ¥ by 1

31 | S951—3016 oy vy S16 1

32 | S806—2256 UF v b M14(P1.5) 1

33 | S058—2620 Y Y (R) 1

34 | S929—2208 SERES: M14 4

35 | S930—0241 By 4X32 5 10

36 | S058—2630 HEEHY Y (F) 1

37 | S017—8560 WESY V& (=1 ) 5. HiNo0.38~485& > 1 0.4

38 | S017—8560—1 | YV vy & F1—7 1

39 | S017—8560—2 | A brwmy F 1

40 | S017—8560—6 | T F H/3— 1

41 | S050—6530 1S S N 1

42 | S818—1116 FA R —JL SDR—16 1 0.9

43 | S951—5030 oy vy 1B—G30 1

44 | S951—4016 W 1B—P16 1

45 | S951—4024 oy v 1B—P24 1

46 | S951—4012 oy vy 1B—P12 1

47 | S806—1205 UF vk M12 1

48 | S929—2207 SRS M12 1

49 | S941—1380 i1+ — (Hif) 5X5X18 1

50 | S058—1380 V7 —1) 4A—1 1 0.5
2000.

25




734 HEEB

"”"t 10-16HST 2000. 1

26




HMESE 734

BiNo.| # & & 5 ;oW % K 1% b BB | RihHn | AU T8
51 | S016—8770 JE 45 1
52 | S902—2051 INESS AR b M10X16 1 5
53 | S926—1208 I8 S M10 1 5
54 | S902—2032 INESS AR b M8X16 4 5
55 | S926—1206 IS BE M8 4 5
56 | S929—2209 R M16 1
57 | S851—4206 THETE (45 ) PTXPFAZ¥—+1/4| 1
58 | S901—4137 NAEL b M16X55(8T) 1
59 | S916—3209 NAT Y b (3FE) M16 1
2000. 1

27



734 HN— - FETTL—LEB

.‘,’.t 10-16HST 2000. 1

28




HiIN— - FEFTL—LE 734

R#iNo.| # & & 5 ®ooo% % i E:d EE | Fih | e T
1 | S072—8110 N SV 1 0.6
2 | S061—8130 HF 1 0.1
3 | S061—8500 FlindAN 1
4 | S901—2016 ANHEEIL b M6X 16 2 5
5 | S926—1204 A M6 2 5
6 | S056—2540 A A 2
7 | S908—1236 B AR IRV M6X12 2 5
8 | S926—1204 IN IS M6 2 5
9 | S916—2204 ATy b M6 2 5

10 | S072—1610L 27 —HftE&H (&) 2

11 | S072—1610R 27 —HftER (H) 2

12 | S902—4033 NERFAEL b M8X20(8T) 24 5

13 | S929—2205 SERES: MS8 16 5

14 | S712—1101 TLINY R 2 0.3
15 | S902—4034 INES AR b M8 X 25(8T) 2 5

16 | S926—1206 A M8 30 5

17 | S916—5205 INESRFT b M8 10 5

18 | S072—8100 tAHIN—= 1 2.5
19 | S050—8120 Ry dy bFrig - 1 0.1
20 | S929—2205 RS M8 1 5

21 | S930—0208 "y 2X16 1 10

22 | S072—8280L | fMlRZ 7 — (%) 1 0.3
23 | S072—8280R | MR A T — (4) 1 03
24 | S072—8292L HIN—T L =24 () 1 0.7
25 | S072—8292R HIS—T L —24 (F) 1 0.7
26 | S902—4031 INESEEL b M8X12(8T) 2 5

27 | S926—1206 IN IS M8 2 5

28 | S072—8301 A 4

29 | S902—4033 INESSFAL b M8X20(8T) 8 5

30 | S926—1206 IN IS M8 8 5

31 | S072—8232 AR A 73— (f) 1 0.7
32 | S072—8242 kR H 3 — () 1 0.7
33 | S072—8270 B A1 73— (A) 2 0.1
34 | S916—1203 NAT Y b M5 16 5

35 | S926—1203 A M5 16 5

36 | S929—4203 g (K1F) M5 16 5

37 | S822—3535 By (7 7HLLE) M8X30 4 0.1
38 | S927—3106 M~ % L—8 8

39 | $929—2205 RS M8 4 5

40 | S834—0012 VarB R 6—12—2.0 4

41 | S072—8421 A AN FAES 1

42 | S834—0005 VarB R 15—19—15 1

43 | S902—2032 INESSFAFIL b M8X16 3

44 | S902—2036 INESNAE L b M8X35 2

45 | S902—2033 INEFSRFBAN b M8X 20 1

46 | S926—1206 IN TS M8 4 5

47 | S929—2205 PR 4 M8 1 5

48 | S016—0070 TAYRTF— 1

49 | S916—6205 NEAAF Y b (3H) M8 4

50 | S072—8480L 7uay b FHhN— (f) 1

2000. 1

29



734 HIN— - ETTL—LEB

1”-t 10-16HST 2000. 1

30




HIN— - FEFTFTTL—LE 734

HiiNo.| & &% & & ®oOOR % 1% L BB | RN | e T

51 | S072—8480R 7ay b Fh = (H) 1

52 | S901—2015 ANAANL B M6X12 6 5

53 | S926—1204 IN RS M6 6 5

54 | S069—8811 THH 1

55 | S061—2111 ATV — 4 1

56 | S929—2209 SERE 4 M16 6 5

57 | S918—4209 INEEM STy b (TSR M16 8

58 | S930—0241 #HY 4X32 8 10

59 | S050—1200L ru—35vy gy () 1

60 | S050—1200R ra—-35vy g (H) 1

61 | S901—8901 FyLavELE (£FD) M16X 150(8T) 2

62 | S916—1209 ATy b M16 2 5

63 | S058—2230 ETA Ty g b 2 0.6
64 | S061—2210 WG 2

65 | S926—1212 IN TS M16 2 5

66 | S030—0160 T4 KT 4 0.7
67 | S938—1724 Rl AN ) B 4 6204LLU 12 0.7
68 | S030—0170 A 2 0.7
69 | S252—0350 W4 12

70 | S072—2240 s AV, v R 2 0.5
71 | S061—2410 FTHANT — A2 2

72 | S902—4075 INESS AL b M12X40(8T) 4

73 | S926—1209 INFES M12 4 5

74 | S916—5207 INEASHIF Y B Mi12 4 5

75 | S953—3202 Y —2 =y T h C—PT1/8 2

76 | S870—2112 Bl 2 (8H) 5

2000. 1

31



734 E|EEB

1”..& 10-16HST 2000. 1

32



K 734

RiENo.| F & & 5 s r?r’] £ 7o b = BB [ R | EEHE T
1 | S072—9402 Bo#/ v — 1 X 1 1
2 | S061—9551 a—-F (H) A4 AP SW 1
3 | S061—9420 g2 —3IF N (LLH) 1
4 | S061—9430 g2 —3IF N (+) 1
5 | S061—9441 g2—3IFNE (—) 1
6 | S753—8301 Ny FIYax—3IFN (+) pFE—1 1
7 | S753—8401 NyFI)a—3IFN (=) /IE—L 1
8 | S753—1002 JNwy T 36B20L 1
9 | S751—1001 <27 Fy b AL v F 1 0.3

10 | S752—1002 ITYVVARA 9 F 1 0.3
11 | S752—1002K Iy v F— 1

12 | S050—7431 F4FAA 9 F 1 0.2
13 | S061—9451 N4ay b3y 1

14 | S050—7420 74 b HHNo.30, 315 2 0.2
15 | S072—9560 B (54 b5 A4 b AAL v F) 2

16 | S757—1020 ta—X 20A 1 5

17 | S061—9481 ta—X Ky s R 1 0.2
18 | S072—9570 B N— 32 USRI TA ) 1

19 | S061—1240 Ny FUMAARL B 2

20 | S921—1204 77 A HEF b M6 2 5

21 | S058—1130 L8y xFy Ny TY) 1

22 | S061—1280 Ny F YA 1

23 | S061—3740 Fag—HI4Y 1

24 | S901—2016 ANARL b M6X 16 2 5

25 | S926—1204 INF S M6 2 5

26 | S916—1204 ATy b M6 2 5

27 | S902—2032 INEFS AL b M8X16 2 5

28 | S926—1206 IN TS M8 1 5

29 | $752—1004—2 | TV PV AL vy F HIN— 1

30 | S050—7420—1| 74 bL VX OSyF VM) 2 0.2
31 | S760—1022 EIK (JHS050—7420—2) A12V35W (S25) 2 2 0.2
32 | S834—0013 2Ry b 9—12—15 2

33 | S061—9462 Y —T7F 4 A4 v F 1

34 | S069—7500—2 | BAEILEZA v F 1

35 | S760—1005 HIk A12V3W(T10) 1

36 | S069—7650 JSFN T A4 b 1

37 | S760—1014 HIk A12V10W(G18) 1

38 | S061—9463—4 | itk (A —H 2 79 F) 1

39 | S061—9210 ZAwFTIr 9 (F—H) 1

40 | S908—1217 FZI RN Y M4X25 2 5

41 | S929—2202 SERES: M4 2 5

42 | S901—2016 ASALL b M6X 16 2 5

43 | S926—1204 IN IS M6 2 5

44 | S929—2204 SRS Mé6 2 5

45 | S902—4033 INES IR b M8X20(8T) 1 5

46 | S072—9171 WAL v F (2= Ff) 1 5

47 | S754—1108 BlIERYv—~T T 4 X4 v F 1

48 | S061—9250 CAYL-— 2

49 | S901—2016 AL b M6X 16 2 5

50 | S926—1204 A M6 2 5

2000. 1

33



B

734

2000. 1

10-16HST

34

P 4

-‘,



T 734

BiNo.| & & & 5 ®oB % 4 fE% | i | e TRy
51 | S929—2204 FHEE M6 2 5
52 | S870—2111 Al 2 (6H) 7 5
53 | S870—2112 Brgd 2 (8HD) 4 5
54 | S902—2032 NES AR b M8X16 2 5
55 | S926—1206 I8N G M8 2 5
56 | S916—5205 INESfBF oy b M8 2 5
57 | S901—2015 AR b M6X 12 6 5
58 | S926—1204 IS A M6 6 5
59 | S069—7440L 54 F2AF— () 1
60 | S069—7440R 74 25— () 1
61 | S926—1206 IS A REE M8 6 5
62 | S916—5205 INESFITF o b M8 4 5
63 | S069—7450 54~ 2T —fiERK 2
64 | S902—2033 ISR b M8X 20 4 5
65 | S072—9580 B (ZA P T -2 ) 1
66 | S072—9590 fidkst (54 b7 —X) 2
67 | S926—1201 IN S M3 2
68 | S929—1201 g (INER) M3 2
69 | S908—1204 T2 AN ¥ M3X12 2

2000. 1

35



734 X7 v 77%!3

.. ———

— N
! _KMF, 4mr

™

2000. 1

36

1’,.& 10-16HST




ATy hE 734

HiiNo.| B & & 5 ®OOR % W 1% fEg | RbHh | T
$9999—7330 ZF oy h—=K
1 | S061—9721 27 w5 (BA - B8 () (H) 2
2 | S050—8140 25w 71 (YANASE) 1
3 | E000040 HI N (RiHh) 1
4 | E000041 BN (97 7&8) 1
5 | S9999—0006 BEISNL (RED-HID) 1
6 | S9999—0007 EINI (Ho3—) 3
7 | S9999—0009 BN (X —HfEk~— ) 1
8 | S9999—0010 s (TagfEkg~e— ) 1
9 | S073—9733 25w A (BESENR) 1
10 | S061—9740 2T vl (Rv—2) 2
11 | S009—1140—2| ZF v A (HV ) V) 1
12 | S072—0920 2T (Bres/sp) 1
13 | S072—0911 ATy (fE/SR ) 1
14 | S061—9850 25y Hh (VYU A LEERER) 1
15 | S061—9860 AFoh (77 ) —FHEREE) 1
16 | S072—9780 25y Hh (VAL b —E) 1
17 | S9999—0031—4| A5 v # (BEHEX) 1
2000. 1

37



734 BECHRE

Bg#£~ b —5Y (Ll LAYy AEL = A4LAT
..I.OI A T o.
O—-0 ! og
Oo—+0 0 ¢ @ @ Q
3 g 18 ] iva
L
o m
=)
-- & |
il
N m =] zj'll
_r @Mﬂ B ” .u_... —d—ll J— U
i Taek i Y YU EE
WV f]‘ LU fT m Y
= P ) #
% Y i r\lm
e i YT Ny wa Yy
= - g - e
= T L D
1 g ¥ =] BE g ¥ ¥ g | &
T g5 |& g 8 (5|5
0
4 bearkys &N re m ﬁ % m m % m 3
B B La @ L) ]

£44Y =31 (v0z)
Lo rL£C -7 £4EL Lo £4 Y L& £4 )Y B
pea(3) Y% AT akk 14 x-%13 £5 LY E—KY
-0 -0

2000. 1

38

v*t 10-16HST




I
Engine Parts

Model 303447 Type 1270—E1

Top
t/ U > g“gg ................................................... 40~41
Cylinder
3/ I) ‘/9“/\\\/ I\“EB .......................................... 42~43
Cylinder Head
A TF—IXZFKR—=ILK - Oy HHIN=Ff eveeeees 44~45
Intake Manihold & Rocker Cover
73‘/73/_\—,7|\.[:°;( I\‘/Snig ........................ 46~47
Crankshaft & Piston
4"‘\"7‘1/9135 ................................................ 48 ~49
Carburetor
1777|)_j—:ni|3 ............................................. 50~51
Air Cleaner
7}-,{)1,7“)[,_7° ............................................. 52~53
Oil Group
%‘%EB ......................................................... 54~55
Electrical Equipment
9+§%g ...................................................... 56~57
Blower Housing
o I‘D_)b'775§ﬂ3 ................................. 58 ~59
Control & Muffler
29—9%—9.%.‘[3 .......................................... 60~61
Starting Motor
jj‘x,j-\y I"’G‘y |\ .......................................... 62~63
Gasket Set
Ty RIN—= e 64~65
Kit Parts

39

2000. 1



734 U LHER

18

2g”

BTHERTWABRET v TUEBRTT,

ATIEBRLTSEEZL,

K ENERSR ) IS Y o> TRERTIEI LB TY, UNRTV

2000. 1

40

v*t 10-16HST



Y HE 734

BiHiNo.| %W & 5 & &% K 1% B | RiEuf | T
1 808440 | >V v #Assy 1 3.8
2 808534 |V VA Ty vy 1 45
3 * 805101 | A AN —N 1 4
8 807795 | 7V —#Assy 1
9 * 807688 | TV —H¥ - HAT v b 1
10 805751 | v a & - A& Y 4 1
11 806083 | 7Y —H -+ Fa—7T 1
12 806190 |25 v o —RA - HAHr o b 1
15 805048 | A4 NLFL Y - T35 1 0.1
15A S058—7120 |AANLFKLY - Fa2—T PN VAL 1
15B S009—0971 | A4 L FLY - Fr v Ak — 1
15C S812—1012 | A4 L FL Y - ¥ — b PN VAL 1
18 807628 |2 I v o r—R « HiN— 1
20 * 805049 |A AN - 1
22 805696 | AFAA T 4 9
116 * 806191 |OU VY - v—N 1
572 805197 | 7Y —% - L —} 1
634 805416 |7 v ¥ ¥
718 805103 |usr—F 4 vV 1
* XIBRF/EIS8 1 Avb-yMIEEhEd,
O KRFE121 317 V- 9N B ENE T,
A FREBES1033 0 M -0 =h-h-Fyh i2EH Eh T,
HfRch B THEN DD T7 v TUBRELEYET,
2000. 1

41



734 ANy KEB

42% 7 7571400

1367 B,

1026

5A 34C\2:6A@ 1029 £=7

7 17574

BTHRENRTWARRE 7y TUBSTY,
K FNER IR ) (FIC > THETEPVETT, UNRTIZaTILESRL T EE W,

.h’.t 10-16HST 2000. 1

42



YNy R 734

RiENo.| & & & 8B =y A % g bici] H % | Rk | e T
5 808381 |~ U v 4 -~y FAssy No.l 1 0.7
5A 808382 | Y v &+~ FAssy No.2 1 0.7
7| %2 806085 | UYHENy K HAr oy b 2
13 805097 | YV ANy N2 4 8
33 807681 | TF ' — 2 b - LT 2 @1.2
34 807680 |4V F—o - LT 2 @1.2
35 805937 |/ ST - 2T F 4
40 805092 | /ST - ) F—F 2
42 807683 | /ST - ) F—F 2
45 262679 | /ST - A Xy b 2
192 807623 |/NIL T - ALY 4 4
276A | kA 805420 | /ST HIN—T =)L - Ty x 4
337 491055 | 28— - 55 2
635 805529 | A= FF5 5 - T— 2
830 806037 | v AT —4 c A&y K 4
868 805094 [ /ST HAF - v —n 2 1.7
871 805084 | HA K - Ty v 2 1.8
1022 | A 806039 | 2w A HIN— - H ANy b 2 0.2
1026 805352 | v -y B (AF—LE) 2 0.7
805617 | v v a-uy F (7L IH) 2 0.7
(& — 2 Mz AfFEH)
1029 806036 | - T — 4 4 0.8
1100 806038 |y HT—24 -84y b 4
* XREE358 1 Arybh- oM ENE T,
O HEEL121 57 V- Fy N EENE T,
A FRB 10330V -0 -F-b -39 M B FhET,
HfEh BTEHEN-DORT7 v TURBRELY T,
2000. 1

43



734 A>F5F—0 = XK—IK- -OvHhH/N—ZF

918 » M

BRTHENRTWABRRI 7y TVRMTT,
KHIBBERIEEY) fHC M o> THEH T BN DETE, UNRTIZaT7LESBRL TLEIWL,

) L 10-16HST 2000. 1

44



{LF—<=k—JLK-OvHHIN—2 734

RiNo.| & 5% & 5 ®oo®B % & i L1 s | RbEf | R LK
50 807802 |4 v F—» - v=k—NLF 1
51 * 805700 |4V F—2 « HA» v b 1

51A | * A 805023 |4 Vv F—% « HAr v b 2
53 805466 | AFA Y o 2
54 805006 |/FZAZ Y 4 4

122 805328 | F v FL & - AX—H 1

276A | * A 805420 |V v ¥ ¥ 4
171 A 805019 |g w2y - F 9 b 4
522 491832 | 74N - T T IR Tl 1
524 | ¥4 271983 | 74 57T I35 - —0 1
601 93053 |k—x - 2307 2
918 393815 |[/¥F 4 —4 - k=2 1

1022 | *A 806039 |9y HAHIN— - HZAr v b 2

1023 805100 | T v B - 35— (#20) V&) 1

1023C 808032 | T vy A+ A= (H1V )V K) 1

* XIFEHRE358 1 Aroh-tyMIEEh 9,

O HNEFERI21 7 V- NIBENET,

PANIP |72 2= TR R TN VAP RVINES 5 2 1 W isk=- 3 (I 3¢ o

HfEh B TEENADBDRT v TUBRELYET,

2000. 1

45



734 73520 v T b EX MR

BTEENTVABRE Ty TUEBRTT,
K ENERER I E ) (I /e > THBRIBSAPBETT, UNRPRZaTIEBRLTILS L,

*”.t 10-16HST 2000. 1

46




g5 v 7 b EXMCE 734

HiiNo.| # & & 5 O A 15 o A [RibEn | EETK
16 808417 |77 v & ¥ x 7 b 1 2.5
17 805754 | K —J - X7 T 1
25 807619 | ¥’ & b »Assy (STD) 2 @1.6
807807 | ¥ X b Assy
(0.254mm # —/3v—H% 1 X)
807809 | ¥ A b »Assy
(0.508mm A —/¥—H 4 X)
807811 | ¥ A I ¥ Assy
(0.762mm A —75—H 4 X)
26 807620 |V v - kv I (STD) 2 @14
807808 |V v ¥ -k w b
(0.254mm A —/5—H 4 X)
807810 |V v ¥ - £y b
(0.508mm A —/5—H% 4 X)
807812 | Y v & - kv b
(0.762mm A —/5—4% A4 X)
27 805099 | KA MY EY -y 4
28 807621 |¥ ALY - ¥y (REFVH—F) 2
29 807900 | XX ZF 4 ¥ -1y ¥ 2 @1.7
807803 |23 F 4 v -0y F
(0.508mm 7 ¥ & —H#4 X)
32 805395 | A2 U 4 4
46 807542 | h 4 - FT 1 0.8
146 94196 | # A4 IV - F— 1
377 808095 | 774K+ - - F— 1
598 807625 | 7w ¥y -ty b 1
() v FOHANZAbYE GEE)
741 805675 | #4 IV - X7 1
1025 805313 | #i/3F + AT — N 1
* XRFEI8 1 Ayb-yMzEENE T,
@ HEEL121 77 V- BMNIEEhE T,
A RRE 2103300 -0 -F-b-d b IcEE R E T,
HEh B TEHEN bR T v TUBSRELEVET,
2000. 1

47



734 X+ IJLAEB

125

BTHEh TWA3BRET7 v TUVRRTY,
KHIEBSR IR L > THHETENYETE, UNRTIZaTILESRBL T AL,

v*t 10-16HST 2000. 1

48




*vJL A% 734

RAHiNo.| # & & 5 8 i # P ] ® fE% | RrbHf | ST
51 % 805700 |4 vF—2 - HAr v b FrTUAA-N-F-M5| 1
91 807919 | 7 w8« KT 1 Assy 1 0.5
94 @ 8082557 | TAFRALTY v AN 2317 1
95 805538 | 2w F K+« A2 4 4
98 808177 | Aty b - FEEZ ) a4 1
102 @ 805541 |F v TLAKRT4 - HAr v b 1 0.5
103 805546 | F ¥ JL A - JU—F 1
104 @® 305545 | 7Ju—btkrY -V 1
105 @ 805547 | =—FIL -7 1
108 805539 |F g —2 - AT 1
117 @® 805853 | A4V -TYxw b 1 1.2
119 805540 | A7V a 1
125 808251 | F v 7L & Assy 1 1.0
127 @ 805559 |wF T 5 1
130 805554 | 21y hL - ST 1
131 807720 | Zua vy b A - ¥4 7 b 1
141 807722 | Fa—2¥ v 7 b -Fo b 1
142 ® 805553 |Fv+TLH - /XN 1
187 298049 | 7o XL - T4V 1
218 @ 805549 |v—V VT -Tyvy 1
240A 493629 | 72X - T 4R 1
385 693169 | A2 4 2
387 808656 | 7 2T - KV T 1
601 95162 |K—RX 257 6
628 805025 | A2 4 1
634A @ 805557 | Aa .y b - AXR—H 1
634B @ 805543 | Fa—2r % T b Ty 1
788 807685 | KT - TIF7 v b 1
918 303815 [/NFa—4 k- 2R 1
947 807664 | 7T - VL /A F 1
955 807723 |+ 7L & - TF7 T
987 @ 805544 | Fg—2 vy T b= 1
1091 @ 80582 |V3IvH -FyruT 1
* MEFE38 1 Myb-yMIEEhET,
@ NEER121 517 V- B MNIEENE T,
A MR EE1033 00T AN -F-b-Fo b IZEEhE T,
MERh BTREN-BORT v TUBRELEY T,
2000. 1

49



734 IT7T7VU—FE

968

BRTHRENTWVWABRRI T v TUEBKTT,
KENEBER I I M > THETENFDBETT, UNRTPIZaT7IVESBBLTLEE N,

1”'-& 10-16HST 2000. 1

50




I77V)—F8 734

BiNo.] & F 5 il o # Fr 4 H fE% | RER | B T ]
161 807857 | L7 o) —F - XN— 2 1
163 * 805655 | LT oY —F - HAT vy b 1
423 805406 | L7 2 —F X=X - ZAH1] 4 1
445 394018 | =7 - 74 L & 1 0.1
467 491875 | 272 ) —F Hh)N— - J T 1
643 805631 | =7 Y—F - UTFT—F 1
711 805057 | A7) 4 4
833 805406 | 22 1) a 2
862 692542 | 2V —FTHUYF A b T o T 1
967 272490 | X7 - T 4 LA 1
968A 807862 | =7 oY —F - - 1
996 808311 |+ 7L & - —=JLF 1
1004 805632 | L7 - £ b 1
* DIREE358 1 Myk- oM B ENE T,
O HNEEL121 27 W - MNIEERET.
A XRFS1033 N M -0 -F-b-FobIZHENF T,
HpEch B TEENEBDRT v TURRELEN T,
2000. 1

51



734 FAINTIN—TF

BTHEENTVWABRRT7 v TUBRTT,
KENERAR I FHC Y 72 > THALEPAVETY, URTIZaT7IEBRBL T EE L,

t*t 10-16HST 2000. 1

52




FAIWVTIN—=T 734

HHNo.| & & & 5 il i £ v i H BB | BiEHAL | FEHE T8
188 805247 | ANFEAZ Y 4 1
239 491657 |AANLTL v x - 24 v F 1
273 * 805058 |OUVZ - v— 1
468 * 805316 |0V V& - v —J 1
479 805317 | A2 2 2
523 693175 | F v T AT 4 v ¥ 1
525A 693173 |FAANT 4N+ Fa—7T 1
529 693132 | A4 LT 4L - =0 1
552 805412 | NN F o TV - Ty vy 1
552A 805413 | /S F O TV - Ty vy 1
565 805073 | ANFAZA A v K - En b 1
596 805057 | ANFA LY 4 2
615 805417 | H/SF ¥ T bk - YF—F 1
616 807596 | H/SF -5y 1
691 % 805054 | HNFL 4T b - 1
737 805030 | AFHA 2 Y 2
750 805406 | A2 4 2
816 805449 |ty - Ty vy 1
965 805654 | A A NEY T« Hiv— 1
988 * 805250 |AANTHTE - HAN oy b 1
1017 807598 | A ALKV T+ ZAH) = 1
1024 807644 | A AN - KT 1 1.0
1027 492932 | 4T 4N A 1
1028 808235 | 74 & - THT A 1 0.2
% MFEE38 1 Aryb-MNIEEh T,
@ XEFZ121 37 W NI EETh T,
A KBREFE1033 MM A0 ==y IZHEh T,
RERE B TEHEN-DDR T v TURRELEYET,
2000. 1

53



734 BER

507
@ 520, &
729 373359® B
O
578
334 &
1054A ee———— )
332 910>

MTHEh TWEIBRE Ty TVBETT,
K ENERSR B FHC Y o > THHRITEPDETT, UNRTYZaTNEERL T EE,

ﬂ.b,.t 10-16HST

) 54

2000. 1



TEE 734
BHNo.| & & 5 8 S % F5iN 7 = B | B | BT
23 808128 | 774+ 4 —N 1 0.9
332 806028 | > v b 1
333 492341 | v AW b - TRF 2T 2 @0.3
334 805407 | AT — A KU AAINEEZ 2 Y o 8
359 92791 (@ v o+ Ty iy 1
363 19203 (774K —N T =7 Bk 1T H)
373 90576 | #—3IF I - F v b 1
474 393295 | AL A X — A 1 1
501 394890 | L ¥ 1L 4 1 0.1
507 398525 |4 v alb—%& 1
520 93722 | #—3IF N 1
526 805448 | L ¥ 2 L AWIE - A2 ) YNTEYEY TR 4 2
578 493792 | IV F - 74 % 1 0.4
726 808162 |V v & - ¥7 1 1
729 280470 | 74X -2 YT 1
851 493880 | r—7 N - 2—3IFN 2
878B 399916 |74 Y - =% X 1
910 806104 | 22 Y A 4
1054A 710349 | —7 0 - &4 1
* NBES38 1 Ay yMIGENE T,
O HNEES121 57 V- NIEEhET.
A XRFEE1033 07477 F-n"-F-h -3y pICEE R T,
HEp B THEREN-DBORT v TUERRKRELEYET,
2000. 1

55



734 HE&SF

BTHREFRA TWABRE T v 2> TUBRTT,
KEIBBR B L oo THREIEFDETCT, UNRTFIZ2T7LESBLTLEEL,

v*t 10-16HST 2000. 1

56



S3&auER 734

HiiNo.| # & & 5 S R N 14 L2 R |RiEHN | B T
73A 224757 | 794K 4 — N - HN— 1 0.1
74A 805026 | 77 A k4 —IHN— - A2 4 4

78 805260 | A4 — 4 HIN— « AL 4 1
304 808055 | 717 - N UV 1 0.6
305 805406 | 7R INY DV S RUAIN—=Z 2 Y 4 17
322 805448 | T 7 H A4 FEIEZXZ Y 2 1
349 805383 | 7 H 4 FEIES v b 1
506 805009 | A~V 4 2
529 805641 | 7’11 A v b 2
573 807663 | /Sw 2 + 7L — b Assy 1 1
638 806101 |7 v ¥ ¥ 1
727 805505 | A4 — 4 « HIN— 1
865 807661 | L7 H A K - Asv— 1 0.9

865A 805738 | TT7 H A F - Hsv— 1

865B 807870 | T 7 HA K « /35— 1 0.7
(No.1> ) v #{Hl)

865C 808098 | 7 HA K - /38— 1 0.7
(No.2v V) v &{H])

879A 805841 | F v 7L & - HsN— 1

* MRBEE3S8 1 Aok tyMIEENE T,
O XRFL121 3177 V- BN EEhE T,
A XBRBES1033 WM AN - Fyb iz EF E R E T,

b BTHENAZDORT7 vy TUBRELVET,
2000. 1

57



734 3> bhO—Jbe~TTTER

BRTEEIN TV AHEET v TUBGETT,
KENER B (S e > THRHIEPRBETT, UNRTYZaTAEBRLTILIW,

P*E 10-16HST 2000. 1

58




Oy kO—JL-<2 758 734
BiNo.| & & F 5 wowm B K 14 Ed % | RH | e T8
188 805025 | ANFIZA Y 4 4
203 807609 |Fa—~» -avitu—i 1
209 805459 | #i/NF - AT T 1 0.3
209A 805453 | H/NFTAENL - AT Y T 1
212 805480 | ATy b - YV 1
216 805439 | Fa—2 - UV 1
222 808195 | AV b —JL - T T v b 1 0.3
227 807528 | #i/NF - Lv— 1
232 805465 | Vv o - ATV VT 1
265 291535 | r—v v o537 2
267 805762 | AFAX YV a 1
278 805018 | 7 v ¥ v 1
300E 808340 |77 7 1 0.2
437 805158 | AfAAA 2 ) o (w7 FHUT) 4
505 805383 |+ v b 1
562 805381 | #/SFLv— - Kb 1
883 | x A 805024 | TF—A b - HZXF oy b 2
1054 280275 | r—7n - 44 1
[
* MRBEE358 1 Mob-yMIEENE T,
@ HREZ121 %7 V- NI EENET,
A BRE 1033 0 V7 d-n k-l -dy b IZEERE T,
HEch B CHENAZDDRT v TUBRELEVET,
2000. 1

59



734 RAZ—2F—288

‘ )
ol
ﬁ! 2;;%

BTHREATOAERRET7 vy TYEBRTT,
K ENEBSRIEEY M > THBRIENDETY, UNRTIZaTILESRBL TILEEL,

1”'t 10-16HST 2000. 1

60




Aa—2F—2E 734

RiiNo.| & & & 5 Hoom B FR 1% 7 (% | RIEHLN | R T
284 805177 | NFHZA Y 4 2
309B 808106 | A4 —4& - E—4 1 0.8
310B 496880 | NFAS Y 4 2
311B 496887 | 77 ¥ - kb 1
510B 496881 | A4 —4 - FF74 7T 1
544B 496816 | AZ—% - 7 F 27T 1
801B 496814 | K747 - Fv o7 1
802B 496813 | LY F - Fy v 7 1 1.0
TRim e Ee !
496887 | 77 - & b 1
803B 496815 | A4 —4& - NG T T 1
1051A 94953 |V F—F -V 1

* XIMFE S8 1 Arvh-yMIEFER & T,
@ NmES121 317 V- Mo B ENE T,
A BB 10330 T 40" -F-b- 3y b IZEEhE 3,

FfEh HTEENLHDORT v TUBRELENET,
2000. 1

61



734 HATv bty b

388 HAT vy h-ty b

BTEENTVWIEHRHET7 v > TUEBGRTT,

AENEBREBHC Y 2> THEIEPRVETT, UNRTYZaTIESRLTIEZIW,

e

10-16HST

62

2000. 1



AXry by b 734

RitiNo.| & & & 5 I A 14 L2 8 | FHh | FEde T8
3 * 805101 |A A - 1
71 %A 806085 | vV HAANy b HAr v b 2
(22— F96033100L1F%)
7A | xo 807986 |V VY AANy L - HAT 9 b
(22— F96040100L )
9 % 807688 | 7V —¥ - HAF v b 1
12 % 806190 | 7T —RA - HATX v b 1
(22 — F97043000LAF%)
* 805112 |25 v o —RZ - HAr v b
(2 — F97050100LLHi)
20 % 805049 |A AN -V —L 1
51 % 805700 | A v F—2 - HA7 v b 2
51A | * A 805023 |4 v F—2 - HAFr v b
87 * 805054 | H/SF LT b -0 1
116 % 806191 OV V& - v =N 1
(52 r—RHIN—)
(22— F97043000L/F%)
* 805198 |OV v - v =
(22 — F97050100LLAT)
116A * 805386 |Fr v - 1
116B % 805058 Q) v - v—) 1
(A A NEYT)
116C % 805316 |OV V&7 - v —0 1
(Koo Ty TFa—7)
167 | ¥ A 805420 | ST HN—=T =)L - Ty iy 4
358 808390 | HAZxr v b kv b
(2 — F97043000L1F%)
807989 | H# A v b kb
(2 — F97050100LLA1)
524 | kA 271983 | 74 NT T 0 - =0 1
524A * 9281370 {74 NFa—TF )b 1
537 % 805655 | LTV —F « HAr b 1
537A % 805003 | 7o Y—F - HAr b 1
883 | kA 805024 | =¥ —Zb - HAT oy b 2
978 % 805250 | H A7 v b 1
978A * 805229 | A7 v b
1022 | k& 806039 | Ty H—HN— - HAF 9 b 2
% KR FE3B8 N Ay yMiEHEhE T,
@ HEEL121 57 V- MNIEEhE T,
A KBEFEES1033 0 V7 F-n -d-b- B ICEHERE T,
gk B THEN-HDOR Ty TUEBRELY ET,
2000. 1

63



734 Fv b=

1033 NIV TH—/nN—F—JL - F v b

715744V

524 O

7A | A5V

121 F+ LY -Fv b

127Q

1091

BTHENTWABRRI 7y TUEBRTT,

KENEBR MK 72> THARTIBAFDETY, UNRTTZaT7NESRLTES W,

'h*t 10-16HST

64

2000. 1



v b=V 734

RiNo.| & & & = ®mB % K 1% 2 A% |RH | EETH
6| *xA 805193 | 7F v b7y 2
(32 — F94050100L4 A1)
7| *2 806085 | L) v HE ANy K - HAT b 2
(2 — F96033100L1F%)
TA | x4 807986 [V &Ny N HAr o b
(22 — F96040100LLR(T)
51A | ¥A 805023 |4 v F—% - HA¥ v b 1
94 @ 805257 |74 FAHEE - LT 1
102| @ 805541 |Fx 7L & - HAF v b 1
104| @ 805545 | 7u—tevy - ¥y 1
105 @ 805547 | =—FML - 3LT 1
17| @ 805853 | A4 ¥ - Yz b 1
121 808273 | ¥y 7L & F oy b
(2 — F94123100LL%)
127 @® 805559 | hF - TF5 1
142 ® 805553 |Fx 7L -0 1
171 A 805019 |2y F b 4
255 @ 805543 |Fa—r V¥ T b HhT— 1
276A | x4 805420 |V —U VT - Tyl x 4
276B| A& 805549 |v—Y vy Ty iy 1
524 | kA 271983 | 74 nT 55 - -0 1
633| @ 805544 |Fa—r P ¥ T b TN 1
668| @ 805557 | Au vy ML - ANR—H 1
8121 A 805019 |y - F v b 4
883 | *xA 805024 | LF VU —Z b HAF v b 2
1022 | *xA 806039 |Gy H—H)N— - HAF o b 2
1033 808392 | /LT H —s3—FK—JL - Fy b
1091 @ 805862 |V 3Ivw& -Fyou7 1
* KEHE358 1 Mob- M &EhEd,
O KMREL121 317 V- NI B Eh T,
A KBEEL1033 NV 1N -d-b- B bz EhE T,
HER B TEEN-DOR T v TVBRELEY T,
2000. 1

65



good newdays

AMSLLELVLERES

Prt

BRET
ket
CE % % 3

T105-8575 E R EFEX 2 i#1-6-38
TEL.(03) 3452 - 4311 (kXF)

g ARERKEISH

IPL- 734



	Return: 
	Body: 
	Engine: 
	Top: 


